PROJECT: Pedestrian Accessibility Route Improvements

Honoka'a, Hawi and Kapa'au

PROJECT NO.: CMAQ-0100(66)

Net Length of Project: 3.04 Miles

ISLAND: Hawaii

DISTRICTS: Hamakua and North Kohala

DATE ADVERTISED: Internet Posting - October 8, 2004

BIDS OPENED: October 28, 2004

BID2 OFFINE	D: October 28, 2004												
COMPLETION	N TIME: One-hundred eighty (180) Calendar Days						:						
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT						
202.0100a	Removal of Concrete Sidewalk	LS	LS	LS	\$58,599.46	LS	\$82,000.00	LS	\$75,000.00	LS	\$101,250.00	LS	\$72,400.0
202.0300a	Removal of A.C. Pavement	LS	LS	LS	\$48,285.96	LS	\$18,000.00	LS	\$60,000.00	LS	\$61,490.00	LS	\$18,900.0
202.0400a	Removal of Striping and Marking	LS	LS	LS	\$4,015.67	LS	\$23,000.00	LS	\$4,000.00	LS	\$4,170.00	LS	\$2,700.0
202.0500a	Removal of Grassing	LS	LS	LS	\$5,597.64	LS	\$500.00	LS	\$7,250.00	LS	\$39,170.00	LS	\$2,700.0
202.0600a	Removal of Drainpipe	LS	LS	LS	\$12,424.24	LS	\$3,000.00	LS	\$3,500.00	LS	\$7,970.00	LS	\$2,400.0
202.0700a	Removal of Catch Basin	LS	LS	LS	\$7,102.40	LS	\$3,000.00	LS	\$4,000.00	LS	\$7,740.00	LS	\$2,500.0
202.0800a	Relocate Historical Monument	LS	LS	LS	\$4,693.32	LS	\$4,000.00	LS	\$700.00	LS	\$330.00	LS	\$1,500.0
202.0900a	Removal of Gravel	LS	LS	LS	\$8,173.92	LS	\$2,000.00	LS	\$1,500.00	LS	\$1,080.00	LS	\$2,100.0
206.0200a	Structure Excavation for Drainage	LS	LS	LS	\$98,291.95	LS	\$12,000.00	LS	\$4,000.00	LŚ	\$4,960.00	LS	\$2,500.0
206.0300a	Structure Backfill for Drainage	LS	LS	LS	\$11,508.35	LS	\$12,000.00	LS	\$3,000.00	LS	\$4,100.00	LS	\$2,700.0
209.0100a	Water Pollution and Erosion Control	F.A.	F.A.	F.A.	\$15,000.00	F.A.	\$15,000.00	F.A.	\$15,000.00	F.A.	\$15,000.00	F.A.	\$15,000.0
304.0100a	Aggregate Base	116	CY	\$142.02	\$16,474.32	\$95.00	\$11,020.00	\$150.00	\$17,400.00	\$228.00	\$26,448.00	\$29.00	\$3,364.00
305.0100a	Aggregate Subbase	37	CY	\$128.20	\$4,743.40	\$95.00	\$3,515.00	\$150.00	\$5,550.00	\$228.00	\$8,436.00	\$29.00	\$1,073.0
312.0100a	Plant Mix Glassphalt Concrete Base Course	107	TON	\$335.01	\$35,846.07	\$110.00	\$11,770.00	\$350.00	\$37,450.00	\$322.00	\$34,454.00	\$300.00	\$32,100.0
401.0100a	Asphalt Concrete Pavement Mix No. IV	139	TON	\$494.02	\$68,668.78	\$85.00	\$11,815.00	\$450.00	\$62,550.00	\$1,096.00	\$152,344.00	\$300.00	\$41,700.0
503.0100a	Concrete Sidewalk and Stairs on Grade	25	CY	\$2,366.34	\$59,158.50	\$900.00	\$22,500.00	\$2,800.00	\$70,000.00	\$220.00	\$5,500.00	\$500.00	\$12,500.0
507.0100a	Hand Railing	15	LF	\$859.91 *	\$12,898.65	\$175.00	\$2,625.00	\$200.00	\$3,000.00	\$1,230.00	\$18,450.00	\$50.00	\$750.0
												Sheet No. 1	of 11 Sheets

PRIMATECH

ABHE & SVOBODA

ISEMOTO

SITE ENGINEERING

STATE OF HAWAII

DEPARTMENT OF TRANSPORTATION

HIGHWAYS DIVISION

PROJECT: Pedestrian Accessibility Route Improvements

Honoka'a, Hawi and Kapa'au

PROJECT NO.: CMAQ-0100(66)

Net Length of Project: 3.04 Miles

ISLAND: Hawaii

DISTRICTS: Hamakua and North Kohala

i .	24-Inch Reinforced Concrete Pipe, Class III 42-Inch Reinforced Concrete Pipe, Class III 30 500a Bed Course Material for Culvert 2 Connect to Existing Manhole/Catch Basin 2 100a Adjust ADA Compliant Drain Inlet Grate 2												YS DIVISION
COMPLETION	TIME: One-hundred eighty (180) Calendar Days						:						
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT								
603.0100a	24-Inch Reinforced Concrete Pipe, Class III	17	LF	\$62.81	\$1,067.77	\$500.00	\$8,500.00	\$350.00	\$5,950.00	\$130.00	\$2,210.00	\$65.00	\$1,105.00
603.0200a	42-Inch Reinforced Concrete Pipe, Class III	30	LF	\$147.27	\$4,418.10	\$650.00	\$19,500.00	\$550.00	\$16,500.00	\$170.00	\$5,100.00	\$125.00	\$3,750.00
603.0500a	Bed Course Material for Culvert	2	CY	\$406.95	\$813.90	\$80.00	\$160.00	\$500.00	\$1,000.00	\$290.00	\$580.00	\$20.00	\$40.00
603.0600a	Connect to Existing Manhole/Catch Basin	2	EA	\$535.14	\$1,070.28	\$2,000.00	\$4,000.00	\$1,000.00	\$2,000.00	\$1,630.00	\$3,260.00	\$1,000.00	\$2,000.00
604.0100a	Adjust ADA Compliant Drain Inlet Grate	2	EA	\$479.89	\$959.78	\$1,600.00	\$3,200.00	\$380.00	\$760.00	\$4,880.00	\$9,760.00	\$2,500.00	\$5,000.00
604.0200a	Type "B" Modified Catch Basin (25-foot Long)	1	EA	\$71,134.49	\$71,134.49	\$19,000.00	\$19,000.00	\$34,000.00	\$34,000.00	\$21,680.00	\$21,680.00	\$13,000.00	\$13,000.00
604.0300a	Replace 4-Inch Drainline	5	EA	\$153.52	\$767.60	\$4,000.00	\$20,000.00	\$1,500.00	\$7,500.00	\$4,550.00	\$22,750.00	\$250.00	\$1,250.00
604.0400a	Replace 3-Inch Drainline	2	EA	\$153.52	\$307.04	\$3,000.00	\$6,000.00	\$1,500.00	\$3,000.00	\$4,550.00	\$9,100.00	\$250.00	\$500.00
604.0500a	Adjust Water Meter Box (Reset box, frame and cover)	11	EA	\$301.98	\$3,321.78	\$1,600.00	\$17,600.00	\$700.00	\$7,700.00	\$650.00	\$7,150.00	\$250.00	\$2,750.00
604.0600a	Adjust Water Meter Box (Cut and reset box, frame and cover)	6	EA	\$354.19	\$2,125.14	\$1,800.00	\$10,800.00	\$1,000.00	\$6,000.00	\$870.00	\$5,220.00	\$500.00	\$3,000.00
604.0700a	Adjust Water Valve Box (Reset frame and cover)	2	EA	\$301.98	\$603.96	\$280.00	\$560.00	\$200.00	\$400.00	\$540.00	\$1,080.00	\$250.00	\$500.00
604.0800a	Adjust Water Valve Box (Adjust standpipe and reset frame and cover)	3	EA	\$866.55	\$2,599.65	\$370.00	\$1,110.00	\$300.00	\$900.00	\$760.00	\$2,280.00	\$300.00	\$900.00
604.0900a	Adjust Sewer Cleanout to Grade	1	EA	\$472.14	\$472.14	\$355.00	\$355.00	\$500.00	\$500.00	\$540.00	\$540.00	\$300.00	\$300.00
607.0100a	6-foot High Chain-Link Fence	82	LF	\$86.05	\$7,056.10	\$85.00	\$6,970.00	\$75.00	\$6,150.00	\$87.00	\$7,134.00	\$42.00	\$3,444.00
607.0200a	3-foot High Chain-Link Fence	25	LF	\$53.92	\$1,348.00	\$55.00	\$1,375.00	\$47.00	\$1,175.00	\$80.00	\$2,000.00	\$34.00	\$850.00
607.0300a	Gates, 6-foot High and 7.5-foot Wide	1	EA	\$5,048.28	\$5,048.28	\$5,060.00	\$5,060.00	\$4,400.00	\$4,400.00	\$1,630.00	\$1,630.00	\$1,200.00	\$1,200.00
												Sheet No. 2	of 11 Sheets

PRIMATECH

SITE ENGINEERING

ABHE & SVOBODA

ISEMOTO

STATE OF HAWAII

DEPARTMENT OF

TRANSPORTATION

TABULATION OF BIDS PROJECT: Pedestrian Accessibility Route Improvements Honoka'a, Hawi and Kapa'au PROJECT NO.: CMAQ-0100(66) Net Length of Project: 3.04 Miles STATE OF HAWAII ISLAND: Hawaii DISTRICTS: Hamakua and North Kohala PRIMATECH SITE ENGINEERING ABHE & SVOBODA ISEMOTO DEPARTMENT OF TRANSPORTATION DATE ADVERTISED: Internet Posting - October 8, 2004 HIGHWAYS DIVISION BIDS OPENED: October 28, 2004 COMPLETION TIME: One-hundred eighty (180) Calendar Days

ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
608.0100a	Concrete Sidewalk	742	SY	\$95.63	\$70,957.46	\$170.00	\$126,140.00	\$120.00	\$89,040.00	\$250.00	\$185,500.00	\$180.00	\$133,560.00
609.0100a	Concrete Curb - Type 2D	749	. LF	\$62.75	\$46,999.75	\$50.00	\$37,450.00	\$48.00	\$35,952.00	\$33.00	\$24,717.00	\$20.00	\$14,980.00
609.0200a	Concrete Gutter - Type 2A	26	LF	\$99.82	\$2,595.32	\$64.00	\$1,664.00	\$145.00	\$3,770.00	\$30.00	\$780.00	\$20.00	\$520.00
610.0100a	Reinforced Concrete Driveway	77	SY	\$293.23	\$22,578.71	\$400.00	\$30,800.00	\$150.00	\$11,550.00	\$156.00	\$12,012.00	\$190.00	\$14,630.00
612.0100a	Grouted Rubble Paving	65	CY	\$1,269.09	\$82,490.85	\$1,000.00	\$65,000.00	\$770.00	\$50,050.00	\$455.00	\$29,575.00	\$350.00	\$22,750.00
618.0100a	Grassed Surfaces	LS	LS	LS	\$40,697.31	LS	\$8,000.00	LS	\$18,000.00	LS	\$5,140.00	LS	\$3,100.00
621.0100a	Sign (10 Square Feet or Less) with Post	10	EA	\$430.25	\$4,302.50	\$450.00	\$4,500.00	\$375.00	\$3,750.00	\$490.00	\$4,900.00	\$500.00	\$5,000.00
621.0200a	Sign (10 Square Feet or Less) without Post	12	EA	\$74.58	\$894.96	\$75.00	\$900.00	\$65.00	\$780.00	\$380.00	\$4,560.00	\$200.00	\$2,400.00
621.0300a	Replace Sign, Post and Anchor	13	EA	\$447.46	\$5,816.98	\$450.00	\$5,850.00	\$390.00	\$5,070.00	\$490.00	\$6,370.00	\$600.00	\$7,800.00
621.0400a	Remove Sign, Post and Anchor	2	EA	\$240.94	\$481.88	\$250.00	\$500.00	\$210.00	\$420.00	\$220.00	\$440.00	\$300.00	\$600.00
621.0500a	Construction Sign with Two Posts	12	EA	\$671.19	\$8,054.28	\$625.00	\$7,500.00	\$635.00	\$7,620.00	\$540.00	\$6,480.00	\$700.00	\$8,400.00
624.0100a	Fire Hydrant Connection, Complete in Place	1	EA	\$8,170.29	\$8,170.29	\$14,000.00	\$14,000.00	\$5,000.00	\$5,000.00	\$2,280.00	\$2,280.00	\$8,000.00	\$8,000.00
624.0200a	6" Waterline including Trench/Backfill	59	LF	\$459.75	\$27,125.25	\$95.00	\$5,605.00	\$200.00	\$11,800.00	\$87.00	\$5,133.00	\$75.00	\$4,425.00
624.0300a	Match Existing Waterline for Replacement of Galv to Copper Pipe including Trench/Backfill	28	LF	\$219.16	\$6,136.48	\$95.00	\$2,660.00	\$200.00	\$5,600.00	\$76.00	\$2,128.00	\$65.00	\$1,820.00
624.0400a	Relocated Water Meter Box	2	EA	\$2,082.63	\$4,165.26	\$800.00	\$1,600.00	\$1,000.00	\$2,000.00	\$920.00	\$1,840.00	\$2,000.00	\$4,000.00
624.0500a	Relocated Water Valve Box	1	EA	\$2,014.75	\$2,014.75	\$800.00	\$800.00	\$500.00	\$500.00	\$920.00	\$920.00	\$1,000.00	\$1,000.00
													·

Sheet No. 3 of 11 Sheets

PROJECT: Pedestrian Accessibility Route Improvements

Honoka'a, Hawi and Kapa'au

PROJECT NO.: CMAQ-0100(66)

Net Length of Project: 3.04 Miles

ISLAND: Hawaii

DISTRICTS: Hamakua and North Kohala

DATE ADVERTISED: Internet Posting - October 8, 2004

1	D: October 28, 2004						:						<u> </u>
COMPLETION	N TIME: One-hundred eighty (180) Calendar Days						:						
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
624.0600a	Relocated Fire Hydrant	1	EA	\$7,768.56	\$7,768.56	\$14,000.00	\$14,000.00	\$2,500.00	\$2,500.00	\$3,790.00	\$3,790.00	\$5,000.00	\$5,000.00
624.0700a	Replace Box and Cover	1	EA	\$373.09	\$373.09	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$2,710.00	\$2,710.00	\$350.00	\$350.00
624.0800a	New Type X Meter Box and Cover	20	EA	\$244.59	\$4,891.80	\$800.00	\$16,000.00	\$2,000.00	\$40,000.00	\$1,300.00	\$26,000.00	\$100.00	\$2,000.00
629.0100a	Crosswalk Marking (Thermoplastic Extrusion)	24	Lane	\$946.55	\$22,717.20	\$1,500.00	\$36,000.00	\$1,000.00	\$24,000.00	\$990.00	\$23,760.00	\$400.00	\$9,600.00
629.0200a	12-Inch Stop Bar (Thermoplastic Extrusion)	80	LF	\$57.37	\$4,589.60	\$25.00	\$2,000.00	\$60.00	\$4,800.00	\$60.00	\$4,800.00	\$4.00	\$320.00
629.0300a	8-Inch Channelization Lines (Thermoplastic Extrusion)	35	LF	\$34.42	\$1,204.70	\$20.00	\$700.00	\$35.00	\$1,225.00	\$36.00	\$1,260.00	\$4.00	\$140.00
629.0400a	4-Inch Parking Pavement Striping (Thermoplastic Extrusion)	28	LF	\$17.21	\$481.88	\$12.00	\$336.00	\$20.00	\$560.00	\$18.00	\$504.00	\$4.00	\$112.00
629.0500a	4-Inch Pavement Striping (Thermoplastic Extrusion)	205	LF	\$17.21	\$3,528.05	\$12.00	\$2,460.00	\$20.00	\$4,100.00	\$18.00	\$3,690.00	\$4.00	\$820.00
629.0700a	Type "C" and "D" Pavement Markers	11	EA	\$11.47	\$126.17	\$100.00	\$1,100.00	\$12.00	\$132.00	\$12.00	\$132.00	\$10.00	\$110.00
636.0100a	Field Office (Not to Exceed \$32,000.00)	LS	LS	LS	\$32,000.00	LS	\$30,000.00	LS	\$30,000.00	LS	\$32,000.00	LS	\$32,000.00
645.0100a	Additional Police Officers and/or Additional Traffic Control Devices	F.A.	F.A.	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00
650.0100a	Curb Ramps, Type "A" Modified	1	EA	\$4,863.20	\$4,863.20	\$14,000.00	\$14,000.00	\$9,000.00	\$9,000.00	\$3,760.00	\$3,760.00	\$3,050.00	\$3,050.00
650.0200a	Curb Ramps, Type "B"	7	EA	\$7,200.17	\$50,401.19	\$10,000.00	\$70,000.00	\$10,500.00	\$73,500.00	\$6,600.00	\$46,200.00	\$5,850.00	\$40,950.00
650.0300a	Curb Ramps, Type "B" Modified	3	EA	\$8,217.61	\$24,652.83	\$8,500.00	\$25,500.00	\$13,500.00	\$40,500.00	\$7,210.00	\$21,630.00	\$9,000.00	\$27,000.00
650.0400a	Curb Ramps, Type "D"	10	EA	\$5,091.38	\$50,913.80	\$12,500.00	\$125,000.00	\$10,000.00	\$100,000.00	\$5,010.00	\$50,100.00	\$3,550.00	\$35,500.00
650.0500a	Curb Ramps, Type "D" Modified	2	EA	\$4,442.58	\$8,885.16	\$14,000.00	\$28,000.00	\$22,000.00	\$44,000.00	\$2,750.00	\$5,500.00	\$3,000.00	\$6,000.00
												Sheet No. 4	of 11 Sheets

PRIMATECH

SITE ENGINEERING

STATE OF HAWAII

DEPARTMENT OF

TRANSPORTATION HIGHWAYS DIVISION

ISEMOTO

ABHE & SVOBODA

PROJECT: Pedestrian Accessibility Route Improvements

Honoka'a, Hawi and Kapa'au

62
PROJECT NO.: CMAQ-0100(66)
Net Length of Project: 3.04 Miles

				SITE EN	NGINEERING	PRIM	IATEC H	ABHE & S	SVOBODA	ISE	ЕМОТО	DEPART TRANSPO	OF HAWAII MENT OF ORTATION S DIVISION
COMPLETION	N TIME: One-hundred eighty (180) Calendar Days												
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
650.0600a	Curb Ramps, Type "E"	1	EA	\$13,242.92	\$13,242.92	\$16,000.00	\$16,000.00	\$16,000.00	\$16,000.00	\$12,640.00	\$12,640.00	\$8,000.00	\$8,000.00
650.0700a	Transition Ramps	12	EA	\$5,285.73	\$63,428.76	\$17,000.00	\$204,000.00	\$10,500.00	\$126,000.00	\$7,770.00	\$93,240.00	\$4,650.00	\$55,800.00
699.1000a	Mobilization (Not to exceed 10% of the sum of all items excluding the bid price of this item, field office and force account items)	LS	LS	LS	\$110,376.38	LS	\$100,000.00	LS **	\$119,605.40	LS	\$100,000.00	LS	\$63,516.00
	Total - Honokaa				** \$1,322,523.96		\$1,371,500.00	***	\$1,370,659.40		\$1,328,857.00		\$789,729.00
												Sheet No. 5 c	of 11 Sheets

PROJECT: Pedestrian Accessibility Route Improvements Honoka'a, Hawi and Kapa'au

PROJECT NO.: CMAQ-0100(66)

Net Length of Project: 3.04 Miles

ISLAND: Hav	vaii DISTRICTS: Hamakua and North Kohala RTISED: Internet Posting - October 8, 2004 D: October 28, 2004			SITE ENG	GINEERING	PRIM	IATECH	ABHE &	SVOBODA	ISE	МОТО	DEPAI TRANS	OF HAWAII RTMENT OF PORTATION AYS DIVISION
COMPLETION	I TIME: One-hundred eighty (180) Calendar Days						::						
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT						
202.0100ь	Removal of Concrete Sidewalk	LS	LS	LS	\$30,840.82	LS	\$24,000.00	LS	\$35,000.00	LS	\$46,700.00	LS	\$16,800.00
202.0200b	Removal of Concrete Pavement	LS	LS	LS	\$5,888.83	LS	\$26,000.00	LS	\$25,000.00	LS	\$33,050.00	LS	\$1,720.00
202.0300b	Removal of A.C. Pavement	LS	LS	LS	\$21,563.08	LS	\$6,000.00	LS	\$15,000.00	LS	\$37,580.00	LS	\$900.00
202.0400b	Removal of Striping and Marking	LS	LS	LS	\$1,543.17	LS	\$9,000.00	LS	\$1,600.00	LS	\$7,161.00	LS	\$950.00
202.0500b	Removal of Grassing	LS	LS	LS	\$6,105.45	LS	\$1,000.00	LS	\$4,000.00	LS	\$27,270.00	LS	\$1,200.00
202.0600b	Removal of Fence (Portion)	LS	LS	LS	\$5,726.89	LS	\$800.00	LS	\$1,500.00	LS	\$496.00	LS	\$1,000.00
202.0700b	Removal of Pipe Railing	LS	LS	LS	\$6,188.52	LS	\$1,800.00	LS	\$1,500.00	LS	\$1,320.00	LS	\$100.00
209.0100b	Water Pollution and Erosion Control	F.A.	F.A.	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00
304.0100b	Aggregate Base	48	CY	\$155.54	\$7,465.92	\$95.00	\$4,560.00	\$150.00	\$7,200.00	\$307.00	\$14,736.00	\$31.00	\$1,488.00
305.0100b	Aggregate Subbase	35	CY	\$152.08	\$5,322.80	\$95.00	\$3,325.00	\$150.00	\$5,250.00	\$307.00	\$10,745.00	\$31.00	\$1,085.00
312.0100b	Plant Mix Glassphalt Concrete Base Course	36	TON	\$546.08	\$19,658.88	\$110.00	\$3,960.00	\$350.00	\$12,600.00	\$660.00	\$23,760.00	\$300.00	\$10,800.00
401.0100b	Asphalt Concrete Pavement Mix No. IV	62	TON	\$837.15	\$51,903.30	\$140.00	\$8,680.00	\$450.00	\$27,900.00	\$838.00	\$51,956.00	\$300.00	\$18,600.00
604.0500b	Adjust Water Meter Box (Reset box, frame and cover)	3	EA	\$344.04	\$1,032.12	\$1,600.00	\$4,800.00	\$700.00	\$2,100.00	\$876.00	\$2,628.00	\$250.00	\$750.00
604.0600b	Adjust Water Meter Box (Cut and reset box, frame and cover)	1	EA	\$396.25	\$396.25	\$1,800.00	\$1,800.00	\$1,000.00	\$1,000.00	\$1,170.00	\$1,170.00	\$500.00	\$500.00
604,0700b	Adjust Water Valve Box (Reset frame and cover)	4	EA	\$344.04	\$1,376.16	\$400.00	\$1,600.00	\$200.00	\$800.00	\$730.00	\$2,920.00	\$250.00	\$1,000.00
604.0800b	Adjust Water Valve Box (Adjust standpipe and reset frame and cover)	1	EA	\$466.88	\$466.88	\$600.00	\$600.00	\$300.00	\$300.00	\$1,020.00	\$1,020.00	\$300.00	\$300.00
												Sheet No. 6	of 11 Sheets

TABULATION OF BIDS PROJECT: Pedestrian Accessibility Route Improvements Honoka'a, Hawi and Kapa'au PROJECT NO.: CMAQ-0100(66) Net Length of Project: 3.04 Miles DISTRICTS: Hamakua and North Kohala ISLAND: Hawaii STATE OF HAWAII SITE ENGINEERING PRIMATECH ABHE & SVOBODA ISEMOTO DEPARTMENT OF DATE ADVERTISED: Internet Posting - October 8, 2004 TRANSPORTATION BIDS OPENED: October 28, 2004 HIGHWAYS DIVISION COMPLETION TIME: One-hundred eighty (180) Calendar Days

ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
608.0100b	Concrete Sidewalk	206	SY	\$121.62	\$25,053.72	\$170.00	\$35,020.00	\$140.00	\$28,840.00	\$531.00			
609.0100ъ	Concrete Curb - Type 2D	422	LF	\$52.53	\$22,167.66	\$50.00	\$21,100.00	\$45.00	\$18,990.00	\$44.00		,	
609.0200b	Asphalt Concrete Curb, Type 6	159	LF	\$20.31	\$3,229.29	\$50.00	\$7,950.00	\$15.00	\$2,385.00	\$55.00			\$8,440.00
610.0100b	Reinforced Concrete Driveway	69	SY	\$273.28	\$18,856.32	\$400.00	\$27,600.00		\$10,350.00	\$210.00	, ,	\$30.00	\$4,770.00
618.0100b	Grassed Surfaces	LS	LS	LS	\$31,142.41	LS	\$8,000.00	LS	\$7,500.00		. ,		\$13,110.00
621.0100ь	Sign (10 Square Feet or Less) with Post	4	EA	\$430.25	\$1,721.00	\$450.00	\$1,800.00	\$375.00		LS	\$3,620.00	LS	\$1,000.00
621.0300b	Replace Sign, Post and Anchor	8	EA	\$74.58	\$596.64	\$85.00	·		\$1,500.00	\$660.00	\$2,640.00	\$500.00	\$2,000.00
621.0500b	Construction Sign with Two Posts	8	EA	\$671.19	\$5,369.52		\$680.00	\$65.00	\$520.00	\$660.00	\$5,280.00	\$600.00	\$4,800.00
624.0400b	Relocated Water Meter Box		EA	\$541.76	ŀ	\$650.00	\$5,200.00	\$585.00	\$4,680.00	\$730.00	\$5,840.00	\$700.00	\$5,600.00
624.0800b	New Type X Meter Box and Cover				\$541.76	\$400.00	\$400.00	\$1,000.00	\$1,000.00	\$2,190.00	\$2,190.00	\$2,000.00	\$2,000.00
629.0100b		٥	EA	\$244.59	\$1,222.95	\$600.00	\$3,000.00	\$2,000.00	\$10,000.00	\$1,760.00	\$8,800.00	\$100.00	\$500.00
	Crosswalk Marking (Thermoplastic Extrusion)	6	Lane	\$946.55	\$5,679.30	\$1,500.00	\$9,000.00	\$1,000.00	\$6,000.00	\$1,330.00	\$7,980.00	\$400.00	\$2,400.00
629.0400b	4-Inch Parking Pavement Striping (Thermoplastic Extrusion)	36	LF	\$34.42	\$1,239.12	\$15.00	\$540.00	\$35.00	\$1,260.00	\$48.00	\$1,728.00	\$4.00	\$144.00
629.0600b	Striping and Marking (A.C. curb marking - white paint)	159	LF	\$4.59	\$729.81	\$6.00	\$954.00	\$5.00	\$795.00	\$8.00	\$1,272.00	\$4.00	\$636.00
629.0700b	Type "C" Pavement Markers	3	EA	\$11.47	\$34.41	\$65.00	\$195.00	\$12.00	\$36.00	\$16.00	\$48.00	\$20.00	\$60.00
636.0100b	Field Office (Not to Exceed \$32,000.00)	LS	LS	LS	\$32,000.00	LS	\$20,000.00	LS	\$30,000.00	LS	\$32,000.00	LS	
645.0100b	Additional Police Officers and/or Additional Traffic Control Devices	F.A.	F.A.	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.			\$32,000.00
	2011003								7 - 2,000.00		\$10,000.00	F.A.	\$10,000.00

Sheet No. 7 of 11 Sheets

PROJECT: Pedestrian Accessibility Route Improvements Honoka'a, Hawi and Kapa'au

PROJECT NO.: CMAQ-0100(66)

Net Length of Project: 3.04 Miles

ISLAND: Hawaii

DISTRICTS: Hamakua and North Kohala

DATE ADVERTISED: Internet Posting - October 8, 2004

BIDS OPENED: October 28, 2004

COMPLETION	N TIME: One-hundred eighty (180) Calendar Days						:						
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
650.0100b	Curb Ramps, Type "A"	\$2.00	EA	\$4,991.48	\$9,982.96	\$12,000.00	\$24,000.00	\$12,000.00	\$24,000.00	\$4,480.00	\$8,960.00	\$6,920.00	\$13,840.00
650.0300b	Curb Ramps, Type "B" Modified	\$2.00	EA	\$5,561.42	\$11,122.84	\$9,000.00	\$18,000.00	\$13,500.00	\$27,000.00	\$6,410.00	\$12,820.00	\$5,380.00	\$10,760.00
650.0400b	Curb Ramps, Type "D"	\$7.00	EA	\$6,675.45	\$46,728.15	\$12,500.00	\$87,500.00	\$10,000.00	\$70,000.00	\$6,460.00	\$45,220.00	\$4,600.00	\$32,200.00
650.0500b	Curb Ramps, Type "D" Modified	\$1.00	EA	\$16,820.26	\$16,820.26	\$14,000.00	\$14,000.00	\$22,000.00	\$22,000.00	\$10,620.00	\$10,620.00	\$9,160.00	\$9,160.00
650.0700b	Transition Ramps	\$3.00	EA	\$5,977.83	\$17,933.49	\$7,000.00	\$21,000.00	\$10,500.00	\$31,500.00	\$1,580.00	\$4,740.00	\$4,400.00	\$13,200.00
699.1000b	Mobilization (Not to exceed 10% of the sum of all items excluding the bid price of this item, field office and force account items)	LS	LS	LS	** \$38,565.06	LS	\$30,000.00	LS	** \$40,910.60	LS	\$49,340.00	LS	\$21,384.00
	Total - Hawi				** \$476,215.74		\$453,864.00		** \$500,016.60		\$636,799.00	,	\$292,277.00
			•										
				<u> </u>									
							:						
	·											Shoot No.	8 of 11 Sheets

SITE ENGINEERING

STATE OF HAWAII DEPARTMENT OF

TRANSPORTATION HIGHWAYS DIVISION

ISEMOTO

ABHE & SVOBODA

PRIMATECH

PROJECT: Pedestrian Accessibility Route Improvements

Honoka'a. Hawi and Kapa'au

	Honoka'a, Hawi and Kapa'au												
PROJECT NO	62 D.: CMAQ-0100(66) Net Length of Project: 3.04 Miles												
ISLAND: Hav	waii DISTRICTS: Hamakua and North Kohala			SITE EN	NGINEERING	PRIM	MATECH	ABHE &	SVOBODA	ISI	ЕМОТО	DEPA	OF HAWAII RTMENT OF
	RTISED: Internet Posting - October 8, 2004 ED: October 28, 2004						:						PORTATION NYS DIVISION
COMPLETIO	N TIME: One-hundred eighty (180) Calendar Days												
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT						
202.0100c	Removal of Concrete Sidewalk	LS	LS	LS	\$46,044.83	LS	\$40,000.00	LS	\$45,000.00	LS	\$69,960.00	LS	\$29,300.00
202.0300c	Removal of A.C. Pavement	LS	LS	LS	\$27,338.99	LS	\$10,000.00	LS	\$35,000.00	LS	\$38,120.00	LS	\$12,360.00
202.0400c	Removal of Striping and Marking	LS	LS	LS	\$2,761.64	LS	\$15,000.00	LS	\$3,000.00	LS	\$5,480.00	LS	\$2,800.00
202.0500c	Removal of Grassing	LS	LS	LS	\$4,130.41	LS	\$400.00	LS	\$5,000.00	LS	\$18,640.00	LS	\$2,325.00
209.0100c	Water Pollution and Erosion Control	F.A.	F.A.	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00
304.0100c	Aggregate Base	77	CY	\$155.54	\$11,976.58	\$95.00	\$7,315.00	\$150.00	\$11,550.00	\$315.00	\$24,255.00	\$31.00	\$2,387.00
305.0100c	Aggregate Subbase	56	CY	\$152.08	\$8,516.48	\$95.00	\$5,320.00	\$150.00	\$8,400.00	\$315.00	\$17,640.00	\$31.00	\$1,736.00
312.0100c	Plant Mix Glassphalt Concrete Base Course	25	TON	\$543.78	\$13,594.50	\$225.00	\$5,625.00	\$350.00	\$8,750.00	\$677.00	\$16,925.00	\$300.00	\$7,500.00
401.0100c	Asphalt Concrete Pavement Mix No. IV	55	TON	\$815.35	\$44,844.25	\$225.00	\$12,375.00	\$450.00	\$24,750.00	\$1,584.00	\$87,120.00	\$300.00	\$16,500.00
507.0100c	Fence Rails	15	LF	\$856.91	\$12,853.65	\$175.00	\$2,625.00	\$240.00	\$3,600.00	\$773.00	\$11,595.00	\$165.00	\$2,475.00
604.0500c	Adjust Water Meter Box (Reset box, frame and cover)	1	EA	\$344.04	\$344.04	\$1,600.00	\$1,600.00	\$700.00	\$700.00	\$900.00	\$900.00	\$500.00	\$500.00
604.0700c	Adjust Water Valve Box (Reset frame and cover)	5	EA	\$344.04	\$1,720.20	\$1,800.00	\$9,000.00	\$200.00	\$1,000.00	\$750.00	\$3,750.00	\$250.00	\$1,250.00
608.0100c	Concrete Sidewalk	347	SY	\$106.44	\$36,934.68	\$170.00	\$58,990.00	\$130.00	\$45,110.00	\$360.00	\$124,920.00	\$180.00	\$62,460.00
609.0100c	Concrete Curb - Type 2D	366	LF LF	\$52.53	\$19,225.98	\$55.00	\$20,130.00	\$50.00	\$18,300.00	\$45.00	\$16,470.00	\$20.00	\$7,320.00
610.0100c	Reinforced Concrete Driveway	74	SY	\$273.28	\$20,222.72	\$400.00	\$29,600.00	\$150.00	\$11,100.00	\$216.00	\$15,984.00	\$190.00	\$14,060.00
618.0100c	Grassed Surfaces	LS	LS	LS	\$37,709.28	LS	\$8,000.00	LS	\$12,000.00	LS	\$28,650.00	LS	\$9,500.00
621.0100c	Sign (10 Square Feet or Less) with Post	5	EA	\$430.25	\$2,151.25	\$450.00	\$2,250.00	\$375.00	\$1,875.00	\$680.00	\$3,400.00	\$500.00	\$2,500.00

Sheet No. 9 of 11 Sheets

PROJECT: Pedestrian Accessibility Route Improvements

Honoka'a, Hawi and Kapa'au

62 PROJECT NO.: CMAQ-0100(66)

Net Length of Project: 3.04 Miles

ISLAND: Hawaii

DISTRICTS: Hamakua and North Kohala

	RTISED: Internet Posting - October 8, 2004 D: October 28, 2004											ł –	YS DIVISION
COMPLETION	N TIME: One-hundred eighty (180) Calendar Days											· .	
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
621.0200c	Sign (10 Square Feet or Less) without Post	3	EA	\$74.58	\$223.74	\$85.00	\$255.00	\$65.00	\$195.00	\$530.00	\$1,590.00	\$200.00	\$600.00
621.0300c	Replace Sign, Post and Anchor	2	EA	\$447.46	\$894.92	\$450.00	\$900.00	\$390.00	\$780.00	\$680.00	\$1,360.00	\$600.00	\$1,200.00
621.0500c	Construction Sign with Two Posts	6	EA	\$671.19	\$4,027.14	\$650.00	\$3,900.00	\$585.00	\$3,510.00	\$750.00	\$4,500.00	\$700.00	\$4,200.00
624.0800c	New Type X Meter Box and Cover	1	EA	\$128.50	\$128.50	\$600.00	\$600.00	\$2,000.00	\$2,000.00	\$1,800.00	\$1,800.00	\$100.00	\$100.00
629.0100c	Crosswalk Marking (Thermoplastic Extrusion)	16	LANE	\$946.55	\$15,144.80	\$1,400.00	\$22,400.00	\$1,000.00	\$16,000.00	\$1,370.00	\$21,920.00	\$400.00	\$6,400.00
629.0400c	4-Inch Pavement Striping (Thermoplastic Extrusion)	278	LF	\$34.42	\$9,568.76	\$15.00	\$4,170.00	\$35.00	\$9,730.00	\$50.00	\$13,900.00	\$4.00	\$1,112.00
629.0700c	Type "C" Pavement Markers	8	EA	\$11.47	\$91.76	\$100.00	\$800.00	\$12.00	\$96.00	\$17.00	\$136.00	\$20.00	\$160.00
645.0100c	Additional Police Officers and/or Additional Traffic Control Devices	F.A.	F.A.	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00
650.0300c	Curb Ramps, Type "B" Modified	2	EA	\$8,087.22	\$16,174.44	\$8,500.00	\$17,000.00	\$13,500.00	\$27,000.00	\$7,420.00	\$14,840.00	\$7,360.00	\$14,720.00
650.0400c	Curb Ramps, Type "D"	19	EA	\$4,623.28	\$87,842.32	\$12,500.00	\$237,500.00	\$10,000.00	\$190,000.00	\$3,410.00	\$64,790.00	\$2,620.00	\$49,780.00
650.0500c	Curb Ramps, Type "D" Modified	1	EA	\$7,862.19	\$7,862.19	\$14,000.00	\$14,000.00	\$22,000.00	\$22,000.00	\$2,570.00	\$2,570.00	\$2,140.00	\$2,140.00
650.0700c	Transition Ramps	2	EA	\$4,285.90	\$8,571.80	\$8,000.00	\$16,000.00	\$10,500.00	\$21,000.00	\$1,220.00	\$2,440.00	\$1,795.00	\$3,590.00
699.1000c	Mobilization (Not to exceed 10% of the sum of all items excluding the bid price of this item and force account items)	LS	LS	LS	\$41,952.89	LS	\$40,000.00	LS *	* \$52,744.60	LS	\$49,340.00	LS	\$25,712.00
	Total - Kapaau				\$502,852.74		\$605,755.00	*	* \$600,190.60		\$682,995.00		\$304,687.00
												Sheet No. 10	O of 11 Sheets

PRIMATECH

ABHE & SVOBODA

SITE ENGINEERING

STATE OF HAWAII

DEPARTMENT OF TRANSPORTATION

ISEMOTO

PROJECT NO ISLAND: Hav DATE ADVER BIDS OPENE	Pedestrian Accessibility Route Improvements Honoka'a, Hawi and Kapa'au 2.: CMAQ-0100(66) Net Length of Project: 3.04 Miles vaii DISTRICTS: Hamakua and North Kohala RTISED: Internet Posting - October 8, 2004 D: October 28, 2004 N TIME: One-hundred eighty (180) Calendar Days			SITE EN	GINEERING	PRIM	IATECH	ABHE &	SVOBODA	ISE	МОТО	DEPAR TRANSF	OF HAWAII TMENT OF PORTATION YS DIVISION
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	Sum of all items Honokaa	·		*	* \$1,322,523.96		\$1,371,500.00	**	\$1,370,659.40		\$1,328,857.00		\$789,729.00
	Sum of all items Hawi			**	* \$476,215.74		\$453,864.00	**	\$500,016.60		\$636,799.00		\$292,277.00
	Sum of all items Kapaau				\$502,852.74		\$605,755.00	**	\$600,190.60		\$682,995.00		\$304,687.00
	a. SUM OF ALL ITEMS			**	* \$2,301,592.44		\$2,431,119.00	**	\$2,470,866.60		\$2,648,651.00		\$1,386,693.00
	 a. SUM OF ALL ITEMS b. Furnish Domestic Steel and/or Foreign Steel Not To Exceed Minimal Amount. (Fill in "0") c. Furnish Foreign Steel In Excess of Minimal Amount. (25% x a) 												
	d. Amount for Comparison of Bids (a+b or a+c)						,						
	* Error in Extension ** Corrected Figure						,						
	I CERTIFY THAT THIS IS A TRUE AND CORRECT TABULATION OF BIDS OPENED FOR THIS PROJECT				ļ		:						
	Roy Shioji 11/16/04 Roy Shioji Date Project Manager						: .				,		
												Sheet No. 11	of 11 Sheets